i

R

i

o

Fikeay =1k
—te : 3 .24 S LY :
]I B P ER (R
(F R 120 % K E#HS 150 49
EEEIM:
LEEN FASLHFACHRE F42F THEPEEFREELHMFE,
2 WA RAEMA A A MEEE ASE AT LS AEA M EERT L
2, wERSH AREBETSE, B et dns. a5k $EE5E

AmFE. BEAKEERM,
JLERLRE WAREFEEF—FET.

—EFEE AR 120, BN S 4, 2 60 & EEMESHAMMERS, RE-TE
HAEEERE.

1. BHES A={z| —x—3<0} ,B={z|z—2<0},M AN B=
(x| —3<2<l2} B. {z| —3<x<2}
C.{x|x=3} D. {x|x<<2}
2. BHER =211+ 2|=
A2S2 B.V5 Cad D.1

3. EHIERL f(2) = sin( 2350 W F AL E R0
A foOMERETHE x:%iﬁfﬁ
B. f()HBIRR T R 0 R

C. f (o) (R/INE W R 5
D.#5Hf (o) BS EFTA s BB AR R B AR 2 A A ARANEE, AT 1R BB L y=sin(x

35 g
4. BEMAABC WR&NKE S 2,D,E 591 BC,AC 4 &5, WDA - DE=
/3 & . B
A, ) B. i G P) D.3
5 BHIEH (o) =dx(xz— 1) tax+ | x| RIEAEL N a=
Al B.2 o3 D. 4
6. Wik y=—TFEAL 2, — DA HIZ R
A, y=—3x+4 B. y=z—4 Ciyg—3x—8 D. _')':3:(*4
TR 12 5 =1,Co s = =10 MRTL AR a1,z 2 er =Sy ] 6=

Al B.2 Cing D.V3
8. AL O RIIE SR 415020 2 F 4, F£ 20 B R it BA B o BE AL — 8 ML 0

& (=g 1 F(%47)%H]

£ OM (i A K T RSl b
A']E B‘% g 0 ”w " P
.+ D. 5 S
9. AABC N 1 A, B,C (35508 a  b.c, B 51 beos C—ccos B=a, H A=2C, 1] C=
A< By Ea R

10, C8 052 A A dh i AR KON 2 BIE 7B ABCD e % 8RS (4 5 171 P AR B — & 12, 0 24 o
fE E—ABCD ({4 i I 12 P e ) 0] v A5
A 1+H/2+H/5 B. 1+2/2 +/5
C.1H/2+2E D.v/2+245
11,45 19 JRWEiZ 220 F 2023 45 9 A 23 H % 10 B 8 HEENUM2EFT . 500 25 B IE & A Kt
A R RO TR E TR B S A 0 W e B L A b B LRI 100 A SHEAT )
BIRA LGB N FEARG<<m<_15.mEN).

- B RN
S 80—m 20+m
T 504m 50—m

LT AT 95 0L BRI R AR A B UL LR U LR S A O U T B
(4 100 44 i WO PR & L8 R R AR o (R

5 nad—be)? el
W K = et D et o Fa 2o noatbtetd.

) 0.15 0. 10 0.0s | o.010 0. 001
ko 2.072 2.706 3.81 | 6.635 10. 828
A, 55 B. 57 C. 58 D. 60

12. B AR R E;%z+-§:l(b>0)ﬁwﬁ§:§£ AB,CD MIZTF A PSS PHSE—2H) . HAB |«
M,CD | v#h.#|PA|: |PB|: |PC|: |PD|=1:3:2: 4,0 6=

A2 B.J2 C.v5 D.V3
Z SR AR 4T, BV 5 5,320 . BERRELTEF RS L
g —aee—1s
13 %,y MR 5 —y<], Wz=2:—yMER/MEY A .
L+\\*]

V4 SRAT B BT s R P R i A =5, TS AR IE B P Bgﬁfl\{ﬁifv;
A EBEKfER O A CREE—Z34F T2 =
15. B4 b SURR BT 4 it 06 000 25 B 40 ) — 2 OB L L R DK Sk — 403 | *

BN SRR Z L E TR SR EZ I, Etﬁ’[ﬁ’»‘lﬁ—;lm

0. 618, 374 Ho 09 SRR oy 8 2 2330, o5 IS A2 L 4 -Eéﬁﬁﬂﬁiﬁ%ﬂ?ﬁ

AR S AIE AR S AIEM DR Cl cos 2C=_ A
16. E,:Eﬂﬂ; ﬁﬂ ABC—ABC, MHETRR 0 2 ER, HHL AC, 5T H BC( 1 By J ()

& (BSHe 2 2 B1(2 4 7) 2R)




SHMEILHTS BECSHYFRMAGEATENRES R £ 1721 EAHARER, E4
MR EARARAEE. 5 22,23 AR RS, A RBERMES.

(—) @288 4 60 43,

17. (12 43>
EEZERE (o, ) BIRT » AN S, LA 2¢; —ay,=11,S;=

(D3R {a, ) B mAR

DU by = e 8 (0, 6T RN T, 25 < T, <100 s m

18. (1241
SR T 600 42 @ P A A S b [ 9 R A A R SR 2R S 2R LA 4 )R (50, 60D,
[60,70),[70,80),[80,90),[ 90,100 | F 4 , 152 40 B AT 7R A4 S92 7070 B B, 25 B sk 0 g
AR a by c SFEE  EHHEAR X RIL60, 70) I AECH 300.
(DRI BT a.b,c BIE; B/ B
O HZ R A B T G B S A (Rl — 4T R S B i ]

1K ]G g EAR D

20, (12 41
Bk C.x? =2py(p=>0OMESEANF.E F HRER IWEHL I 5CEZTA.BHEA,
|AB|=16.
(3K p B9 ;
(203Kl A.B H'5 C BHELAR Y1 7 049 77 12,

21. (12 49
TR f(o)=a"+(1—a)x—1(a>0 H a71).
(1) a=e BF, 2K fx) B EIE X E] 5
(2)i% a>>1,0EH 24 € (0, DB, £(2)<0.

(B)fﬂéﬁiﬁz‘ﬁﬁl’#ﬂﬁﬁ%‘bk’}ﬁvé#[&o 90) :[90, loojmﬁm

1,”\ HE ?T&Hlﬂﬁfhz 2 AFF'T“H'EI 1 )\E’JH‘J’H’EEIH][% 100]
B,
0.005 -
07750 60 70 80 90 100/&%4k
19. (12 43

WAABC iy B DE il 1R 4 C 23k 4 P f90 & . {8115 PA=PE, 13 8|40 it
TV P—ABDE, H AC=J2AB=2,AC_| AB,F 3} PB fyh 5.

(1iEM . DF /¥ PAE.
(2):RPIkEHE P—ABDE B/,

s [B=fy £3 AT

2% [ﬁf%el 4, %hfﬁi *ﬁaﬁﬁﬁ}(lo 5})
T EARIRER Oy, i C WEH TR R

x=1+3cos a,
y=—2-13si

TN y=32, 0 O Hff A, L zﬁhiFﬁ*%%}ﬁﬁl&iﬁ%ﬁ?%.
(D3RR C FIHZ C MR AR T
(2)FEL C, SR C 2T M, N B K |OM] - |ON|#1E.

S HBRD AR G

23. [l 4—5. F%i 10 40
EHEH ()= |z+2]|—|xz—1].
(DRAZER, ()= x—1]—3 B
() EFEE zERMETE ()= |1—m| BT o3k m I HUETEE.

& [B=H¥ #4703 47)R]




